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N = 0] &F AF S & AN A
20178 = 20 A Xlotx=2cISEsH 8A
SN ALLED
M AMHy
Ce: Xlots 22l (Kot EEaH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A= 231,250 229,656 1,594
& 6,250
Al 225,000
ALEMH 195,250 193,656 1,594
o= 6,250
Al 189,000
Xlots 2tel (Kot Ega H) 195,250 193,656 1,594
=} 6,250
Al 189,000
XNot40ISAENZAI & HEE A2 36,000 36,000 0
= 6,250
Al 29,750
101 e1214| 10,000 10,000 0
04 JIZtHIZ22XNSES 10,000 10,000 0
OXIGta=0l2AEHEAIZ A2 1AHH|(2H)
10,000,000& 10,000
207 I | 19,000 19,000 0
& 4,570
Al 14,430
01 A& H| 19,000 19,000 0
OXots0lSAIEAl 4 19,000,000& 19,000
&< 4,570
Al 14,430
401 AIEHIZL 201 Y| 7,000 7,000 0
= 1,680
Al 5,320
01 Al&H| 7,000 7,000 0
OXot4+0lSAEA & HE |N=E2
7,000,000& 7,000
= 1,680
Al 5,320
Xote 22| 74,240 74,240 0
201 gBt2Ad| 21,240 21,240 0
01 AFR 2t 2| H| 11,340 11,340 0
OgLbt4=2H| 11,340,000 11,340
02 2=2=29%4| 9,900 9,900 0
OZ22222H A 9,900,000 9,900
202 044l 3,000 3,000 0
01 2Ll 3,000 3,000 0
OXot+=0lsSALH RS2 3,000,000& 3,000
401 AlEHIZL 2 0HY| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
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